AP Exam Review

Tuesday, 5/8/18 3:30 - 5:30
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6. If fis the function given by f(x) = 3x” — x° then the average rate of change of [ on the closed interval [1, 5] is

8. If f is the function given by f(x) = £, which of the following is an equation of the line tangent to the graph
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12. The number of gallons of water in a storage tank at time 1, in minutes, is modeled by w(r) = 25 — r
for 0 < 1 < 5. Avwhat rate. in gallons per minute, is the amount of water in the tank changing at time

f = 3 minutes?

(A) 66 (B) 16 © -3 W'(*)= ""'Zt' l

- -2(3)

=3

13

o s 0 S Tl o i W Sl W O e Y S

< b 0 W T Y Y 0 P Wi, e i 0 Wi W W

_.9 ________ ¥H ey —

1’ T A AT A A A A A A A
CANTARTAN A R AR Y BN A Y A A

LARY AU ANE A A A BT A A A

LR AR A I S BT A

LA A A A A - VA A A R A A

LAY AT A S A G 4 LA A A S Y A 4

P A A A A S A BT A A A S A A

Pl al aP AP P Py P S e
. TEeE o

P i P A
A A AT AT A A A A A AN A A A A

N A Y A A AN Y A A |




AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA ¥ v

2 . 2
14. The weight of a population of yeast is given by a differentiable function v, where (1) is measured in grams and ’_\\I
1 is measured in days. The weight of the yeast population increases according to the equation % = ky, where k \ k
is a constant. At time f = 0, the weight of the yeast population is 120 grams and is increasing at the rate of = = x = r : % < X
24 grams per day. Which of the following is an expression for y(r) ?
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(B) 120¢'/% Graph of f Graph of g
() 154110 15. The graphs of the functions f and g are shown in the figures above. Which of the following statements is false?
(D) 24¢+120 (A) Ili_::'llf(x]l =0

(B) lim g(x) does not exist.
[(&] l'll\‘lI (flx) g{x + 1)) does not exist.
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16. Let fbe the function defined by f(x) = —3 + 6x° — 2", What is the largest open interval on which the graph

of [ is both concave up and increasing?
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17. A particle moves along the x-axis so that at time ¢ > 0 its position is given by x(1) = 12¢ "sin r. What is the
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18, Let F be the function given by F(x) = J': (tan (5¢)sec{5t) — 1) dr. Which of the following is an expression
for F*
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19, Let fbe the function given by f(r) = 2cos x + 1. What is the approximation for f(1.5) found by using the line

T
tangent to the graph of fat x=—"7
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